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0.75m3/s

KP44.3  45.0 KP41.8 44.3
=6.15m
=3.14
5. 1 1 20 1 20
= /ED; om _
om ' B =0.41m
—044nms L 15m =0.79m/s

(m) 6.15 3.14
(m) 1.712/6.15=0.28 0.951/3.14=0.30
(A/B)
1/1,000(=0.001) 1/330(=0.0030)
0.44 0.79
n=0.03
0.052 0.094
(9.8*h* )™
® uur / 8.46 8.40
0.27 0.46

a ¢ (F)” (hWB)”
(a =5)

5*8.46* (0.27) " (0.28/6.15) **
=5*8.46*0.520*0.213 =4.69

5*8.40* (0.46) " (0.30/3.14)
=5*8.40* 0.678* 0.309 =8.80

X

4.6976.15 29.0

8.80*3.14 280

29.0v2=58.0

28.072=56.0

Al

58.0/6.15 9

56.0/3.14 18
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